
BELL SYSTEM PRACTICES 

Plant Series 
SECTION 502-580-437 

Issue 2, February 1971 

AT&TCa Standard 

SERVICE 

525A/B TELEPHONE SETS 

1. GENERAL 

1.01 Reissued to add nontechnical changes to Fig. 
1. 

LINE WIRE 

TIP 

RING 

GRO 

TABLE A 
LINE AND RINGER CONNECTIONS 

INDIVIDUAL TIP PARTY TIP PARTY lOE NT. 
WIRE OR LE AD COLOR OR NO IDENT. GROUND 

BRIDGED GROUND 100011 265011 

R L2 L2 K B 

RINGER BK ll G G B 
LEADS s K K B K 

S-R A A B G 
LINE SWITCH s L2 L2 A A 

I TIP G ll L2 L2 L 2  
Wl�

I
:

E
AT r RING R L2 Ll Ll Ll 

NET. r GRD y G G G G 

NOTES: 
I. FOR �ANUAL SERVICE, REPLACE D I AL AND DIAL ADAPTERS 

WITH 80B APPARATUS BLANK. CONNECT (BL} AND (G ) 
LEADS FROM NETWORK TO 808 APPARATUS BLANK 

TERMINAL W-68 AND (W } LEADS TO TERMINALS SR 

AND Y·BK. 

2. LINE AND RINGER CONNECTIONS SHOWN ARE FOR RING 

PARTY SERVICE. TABLE A LISTS OTHER CLASSES OF SERVICE. 

3. TO PERMANENTLY SILENCE RINGER: 

FOR BRIOGEO,RING PARTY,ANO TIP PARTY EXCEPT DIAL 

MESSAGE RATE SERVICES,TRANSFER (BK } RINGER LEAD TO 

K OF NETWORK • 

FOR 100011 IDENTIFYING GROUND, TRANSFER ( S-R } RINGER 

LEAD TO K or NETWORK. 

FOR 265011 IDENTIFYING GROUND,TRANSFER (BK } RINGER 

LEAD TO K or NETWORK • 

4. LINE SWITCH SEQUENCE, HANDSET REMOVED: 
be- M AKES ab- BREAKS 
de- M AKES fg- BREAKS 
DP- DIAL PULSE CONTACTS 

ON- DIAL OFF- NORMAL CONTACTS 
( ) - CURRENT COLOR CODE 
( ] - MD COLOR CODE 

Fig. 14525A/B (MD) Telephone Set, Connedlons. 

® American Telephone and Telegraph Company, 1971 

Printed in U.S.A. Page 1 



SECTION 502-580-437 

ON POLE 

3/8 IN. 
MOUNTING 
HOLES IN 
BRACKET 

ON METAL FENCE 

NOTES: 

I. USE 290 BRACKET WHENEVER 
TELEPHONE SET CANNOT BE 
FASTENED DIRECTLY TO 

MOUNTING SURFACE. 

2. WHEN ATTACHING BRACKET ON FLAT 

SURFACES USE ONE HOLE IN EACH GROUP 
OF 

"
A

" 
HOLES. USE HOLES AS FAR FROM 

CENTER OF BRACKET AS PRACTICA BLE. 

ON MASONRY, BRICKWORK, 

CONCRETE, STONEWORK, ETC 

Fig. 2-290 Bracket Mounted on Various Surfaces 

TABLE B 
FASTENERS FOR 29D BRACKET 

SURFACE QUAN FASTENERS 

Wood 4 1-1/2 in. No. 14 RH galvanized wood screws 

Wood poles 4 2-1/2 in. or longer No. 14 RH galvanized wood 
screws 

Wood poles (where diameter of pole 2 5/16 x 3 in. coach screws or 2-1/2 in. or longer 
is 8 inches or less) No. 14 RH galvanized wood screws 

Finished masonry, brickwork, con- 4 5/16 x 2-1/4 in. hammer drive anchors, or ap-
crete, etc proved equivalent 

Solid metal -metal fences, 
1 x 5/16 in. No. 18 RH brass machine screws. 

4 Drill and tap holes using 17/24 in. drill and 
columns, etc* 5/16 in. No. 18 tap 

Hollow tile, corrugated metal, 4 1/4 x 4 in. RH toggle bolts 
plaster board, etc 

• Iron straps, bolts, etc may be used where local instructions permit. Attach telephone set securely. 

Page 2 
2 Pages 

BSP S02-580-437-i02 1971-02-02.jpg Scanned by Frank Harrell, (Cowboy Frank) Castle Rock, Colorado Oct 10, 2012 13:4"'2:-"45:>..__�-----�-----



BELL SYSTEM PRACTICES 

Plant Series 
SECTION 502-580-437 

Issue 2, February 1971 

AT&TCo Standard 

SERVICE 

525A/B TELEPHONE SETS 

1. GENERAL 

1.01 Reissued to add nontechnical changes to Fig. 
1. 

LINE WIRE 

TIP 

RING 

WIRE OR LEAD 

RIN GER 
LEADS 

LINE S WITCH 

LINE 
I TIP 

WIRE AT I RING 
NET. 

I GRD 

J I A 

RINGER 

(S-G] 

.J 

TABLE A 

LINE 

SWITCH 

(NCTE 4) 

I 
1-1 

(SRI kf 

I 
(Rl t{f 

PART ,,,�,:;� 

OF 425E 

NETWORK 

(S-R] GN 

(S-BK] R 

6S DIAL 

(NOTE I) 

NOTES' 

DP 

ON 

G3AA 
HANDSET 

(SK l (]) 
(W) 

(W) 

(R) 

LINE AND RINGER CONNECT IONS 
I. fOR �ANUAL SERVICE, REPLACE DIAL ANO DIAL ADAPTERS 

WITH 808 APPAR ATUS BLANK. CONNECT (BL) ANO (G) 
LEADS fROM NETWORK TO SOB APPARATUS BLANK INDIVIDUAL 

COLOR OR 
BRIDGED 

R L2 

BK Ll 

s K 

S-R A 

s L2 

G Ll 

R L2 

y G 

TIP PARTY TIP PARTY IDE NT. 

NO IOENT. GROUND 

GROUND IOOOn zssDn 

L2 K B 

G G 8 

K 8 K 

A 8 G 

L2 A A 

L2 L2 L 2  

L I L I L I 

G G G 

TER�INAL \1·88 ANO (II) LEADS TO TERMINALS SR 
ANO Y·BK. 

2. LINE ANO RINGER CONNECTIONS SHO\IN ARE fOR R I N G 

PARTY SERVICE. TABLE A LISTS OTHER CLASSES Of SERVICE. 
3. TO PERMANENTLY SILENCE RINGER' 

fOR BRIOGEO,RING PARTY,ANO TIP PARTY EXCEPT DIAL 
MESSAGE RATE SERVICES, TRANSfER (BK) Rl NGER LEAD TO 
K or NET\IORK. 
fOR IOOOfi IDENTifYING GROUND, TRANSfER (S-R) RINGER 
LEAD TO K or NET\IORK. 
fOR 2650n IDENTifYING GROUND, TRANSfER (BK) RINGER 
LEAD TO K Of NET\IORK. 

4. LINE SWITCH SEQUENCE, HANDSET REMOVED' 
be - MAKES ab- BREAKS 

de- MAKES f 0- BREAKS 

0P- DIAL PULSE CONTACTS 

ON- DIAL OFF- NORMAL CO NTACTS 

( l - CURRENT COLOR CODE 

[ ] - MD COLOR CODE 

Fig. 14525A/8 (MD) Telephone Set, Connections. 

© American Telephone and Telegraph Company, 1971 

Printed in U.S.A. Page 1 

SP 502-58Q-g3l-i02 1971-02;23.jpg Scanned by Frank.Harrell, (Cowboy Frank) Castle Rock, Colorado Oct 10. 2012 15:30:56 



SECTION 502-580-437 

ON POLE 

290 BRACKET 

3/B IN. 
MOUNTING 
HOLES IN 
BRACKET 

APPRO X 55 IN. 
TO GROUND 

1 
ON METAL FENCE 

NOTES: 

I. USE 29D BRACKET WHENEVER 
TELEPHONE SET CANNOT BE 
FASTENED DIRECTLY TO 

MOUNTING SURFACE . 

2. WHEN ATTACHING BRACKET ON FLAT 

SURFACES USE ONE HOLE IN EACH GROUP 
OF 

"
A

" 
HOLES. USE HOLES AS FAR FROM 

CENTER OF BRACKET AS PRACTICABLE. 

ON MASONRY, BRICKWORK, 

CONCRETE, STONEWORK, ETC 

Fig. 2-290 Bracket Mounted on Various Surfaces 

TABLE B 
FASTENERS FOR 290 BRACKET 

SURFACE QUAN FASTENERS 

Wood 4 1-1/2 in. No. 14 RH galvanized wood screws 

Wood poles 4 2-1/2 in. or longer No. 14 RH galvanized wood 
screws 

Wood poles (where diameter of pole 2 5/16 x 3 in. coach screws or 2-1/2 in. or longer 
is 8 inches or less) No. 14 RH galvanized wood screws 

Finished masonry, brickwork, con- 4 5/16 x 2-1/4 in. hammer drive anchors, or ap-
crete, etc proved equivalent 

Solid metal -metal fences, 
1 x 5/16 in. No. 18 RH brass machine screws. 

columns, etc* 
4 Drill and tap holes using l 7/24 in. drill and 

5/16 in. No. 18 tap 

Hollow tile, corrugated metal, 4 1/4 x 4 in. RH toggle bolts 
plaster board, etc 

* Iron stmps, bolts, etc may be used where local instructions permit. Attach telephone set securely. 

Page 2 
2 Pages 

R<P <OJ-<Rn-4<7-im 1q7J.Q2-04.ioe Scanned bv Frank Harrell, (Cowboy Frank) Castle Rock. Colorado Oc� t_ll�0.,_.20;01ll£2_Jlc>_5 �:3c!_l�:1�4-------------


	502-580-437-i02_1971-02-01
	502-580-437-i02_1971-02-02
	502-580-437-i02_1971-02-03
	502-580-437-i02_1971-02-04

